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General Instructions :

(1) The question paper comprises of two sections, A and B.
| You are to attempt both the sections.

(1i) All questions are compulsory..

(iti)) There is no overall choice. However, internal choice has
been provided in all the three questions of five marks
category. Only one option in such questions is to be
attempted. ;

(iv) All questions of Section A and all questions of Section B
are to be attempted separately.

(v) Questions number 1 to 4 in Section A are one mark
questions. These are to be answered in one word or one
sentence:

(vi) Questions number 5 to 13 in Section A are two mark
questions. These are to be answered in about 30 words
each.

(vii) Questions number 14 to 22 in Section A are three mark
questions. These are to be answered in about 50 words
each.

(viii) Questions number 23 to 25 in Section A are five mark
questions. These are to be answered in about 70 words
each.

(ix) Questions number 26 to 41 in Section B are multiple
choice questions based on practical skills. Each question
is a one mark question. You are to select one most
appropriate response out of the four provided to you.
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SECTION A

T8 Rt FEfe 9ifs o 99 @ o fafee Sed — cHO
YehafcAs GHE Bl @ |

Write the name and formula of an organic compound
having functional group — CHO.

udr fordt uftear o1 s e dfse fSud feved wywe feai
e R |

Give one example of a phenomenon where Tyndall effect is
observed.

Sig-37ee & it fafEw |

Define the term bio-magnification.

agHsd & U W A SSH F TH @ FH 73 ?

What is one important function of ozone in the upper
atmosphere ?

Myfe ead GROM & RS omed § e § o R WM W
awel & oifeass 707 § R TR uRedd g @ 2 39 giedd &
SROT fefEa |

How does the metallic character of elements change on

moving from left to right along a period in the modern
periodic table ? State reason for this change.
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6. frdt @ X & sl faarg 2, 8, 7 8 |
(a) W@ X & 9 g qA1 3MEd A @1 ST ?

(b) ¥ T@ & @AW HW H fEAT ToERE T AW TR
GrSeRdr 1§ 2 2

The electronic configuration of an element X’ is 2, 8§, 7.
(a) To which group and period does X’ belong ?

(b) How many electrons are present in its outermost shell
and what is its valency ?

7. If9% Sad= %7 319 fafEue | 39 &Yy g STe §H 9 @ gied
F 99 faf@w | 2

State the meaning of vegetative propagation. List two
plants grown by this mode.

8. WMl H IRV UH e H SERE IR ¥ g 7 WA H
TR e T 8 ? 2

What is the genetic difference between sperms and eggs in
case of humans ? What is its significance in reproduction ?

9. fwddt el <dor g 3oq faadq <+ L7 3 | 39 99 &1 fagauo

10
& (i) Mg YU & ¥HR, (i) TUUT EW a4 Sfafa= &
fagroametl & fafew | 2
The magnification produced by a spherical mirror is “+ E”'
Analysing this value, state (i) the type of the spherical
mirror it is, (ii) three characteristics of the image formed
by the mirror.
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10.

11.

12.

13.

14.

gd & arfgs gaed 9 2 e v fewiE <3 o g =i ?

$RoT fafgw |

The sun is visible to us 2 minutes before the actual time
of sunrise. Why ?

UHE A9 # gEeH SNdT F R ad @ 2 U 9F % fe
frepe-fag @ @-forg &t < foat @t @ 2
What is meant by the power of accommodation of human

eye ? What is the distance of near and far points of a
normal eye ?

HI N UfdEd w () STavd foE dw Gi) e &
AR & {4 S o %ol fafgw |

State the reasons for considering coal and petroleum as (i) fossil

fuels and (ii) non-renewable sources of energy.

gt eI’ ﬁwﬁmaﬁﬁ@ﬁmﬁa‘rmmﬁw
TET |

List two ultimate benefits of ‘Chipko Andolan’ to the local
people.

(i) forema wderun, (i) Wifeam gEse FEibe & 9y AR &
STET T I T UIHIESH 3T & sig fa¥ed SifgT | udHid
q TIAEE 7T H ®URRUT § IYI B ard S’El?n'&ﬁ TS &l
Ty fafeaw |

Distinguish between ethanol and ethanoic acid on the basis
of (i) litmus test, (ii) reaction with sodium hydrogen
carbonate. Name the oxidising agent used in the conversion
of ethanol to ethanoic acid.
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15. od Li, Na 3 K sHTF 3M6d 2,3 3 4§ & | 39 0 o<l #
HAIShaT SAaeiAl S 17 () 7 fRY g ¥ @ =@few ?
(i) 319 ¥ &9 TOH F9 AAwaia @ 2 i) I 9 frua
] e Sifyean 8 2 U YT H U SR H HRU
wfea g s | 3

The elements Li, Na and K each having one valence

electron are in period 2, 3 and 4 respectively. (i) In which
group should they be ? (ii) Which one of them is least
reactive ? (iii) Which one of them has the largest atomic

radius ? Give reason to justify your answer in each case.

16. o4 MifeE fafedl & g sAET S T @ gEE & fau
HYAE W € | Fedh H T I off fafey | 3

State three methods of contraception practised to avoid

pregnancy, giving one example of each.

17. T& Al Q0 3l 99 (BB) W TR UH el T A 0
(bb) § FTT AT 7 |

(a) M9 T F, G ¥ f5Y TR ¥ W AW 08w R
ST F F 7 e

(b) AME F, N & T F @G- FE I, @ F, G OH
Tl QST ATt Ui i ST wfasradr @ gn 2

() F, §afd # S99y BB 3R Bb § oTfdd U &
g ? 3
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A blue colour flower plant denoted as BB is crossbred with
that of pink colour flower plant denoted as bb.

(a) State the colour of flower you would expect in their Fq
generation plants.

(b) If flowers of F; plants are self-pollinated, what will be
the expected percentage of pink colour flower plants in
F, generation ?

(¢) State the expected ratio of the genotypes BB and Bb in
the F, progeny.

18. ‘Sfa Sewe’ & 31 & Seoi@ FIGT | 39 faw STRerEl =)
FIH Hl el TR |
State the meaning of ‘speciation’. List four factors
responsible for speciation.

19. STaeT 9 47 arcad € 7 STaTedl & S H EE A H
fafri 1 dev # I ST |
What is meant by fossils ? State in brief two ways of
estimating the age of fossils.

20. ¥ &I gHaT (TH) HI IR 41 SR S.I. e fafaw | fog
YhR & g F gHaT (V) EOMHS Bdl @ 2 39 oad o
oAl (Vh) URehfaa e SWeh & Hiwd H JeReh

FE I 50cm B |

Define the power of a lens and write its S.I. unit. Name
the type of lens which has a negative power. Calculate the
power of a concave lens whose principal focus is at a
distance of 50 c¢cm from its optical centre.
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21. Fix 5 cm 91 o foRdl 30 cm B9 T & 3I9@ o9 & q&HA
3T W A W B | e oW gl 20 em @ | 9 G A
ITT Nk o4 O Sfafew @ fafq, GEs q9r gefa 3
FHifeT | ‘_ 3

A 5 cm tall object is placed perpendicular to the principal
axis of a convex lens of focal length 30 cm. The distance of
the object from the lens is 20 cm. Use lens formula to find
the position, size and nature of the image formed.

22, 99 Ty FM B ? T@ TY F A 3 mﬁw
BT | Y9 ¥ IoiE s & 39 efg-gm Wﬁ
YRR feoram ST @ehell B | 3

What is hypermetropia ? List two causes for the
development of this defect. State in brief how this defect of
vision can be corrected.

% S QT W OGEY F Seer@ AT RO EER
AR T4 s FEfe A fews @a | Sty
Mﬁmﬂﬁm%u)mﬁsﬁwmmﬁwmﬁﬁﬁw
fafaw | FEfbs il # q@ 59 a9 |9 Gl TeR %
geaash e & 99 fafaw |

rar
(a) SEf% AN & g S0 9 e aeed 2 2 §9%
% F o7 fafew | W@ A S greeE Suft aeRg
fSwe ¥ ¥S® CH40H © |

(b) f&a aifiepl &1 () T Gi) Toshia a9 (m)ir@s:f Fal
ST ® ? CoH, T ¥ F|M T 7 | 5

23. e
=R
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24.

State briefly two properties of carbon which lead to the
huge number of carbon compounds we see around us. Give
reason why most of the carbon compounds (i) are covalent,
(ii) are very stable. Name three different kinds of covalent
bonds found in the organic compounds.

OR
(a) What is homologous series of carbon compounds ? Write
its any two characteristics. Generate the homologous

series for compounds, having CHgOH as its first
‘member. :

(b) Which compounds are called (i) alkanes (ii) alkenes and
(iii) alkynes ? Which of them is CoH, ?

O o X SEA T H (1) gU9, (i) IPRRE, (i) sRafed,
(iv) T Afc, O (v) M A & offer @ deY § Wy
FIGT |

Agal

A % HIG SAA A § fefad eme (3 § R % 9=
dh B Gl UREddl @ §9U § Ioci@ HIST | SE 3[UE
e 98 &1, a9 39 37U & 1 &l @ ?

Explain briefly the role of (i) testis, (ii) seminal vesicle,
(i11) vas deferens, (iv) ureter, and (v) prostate glands in
human male reproductive system.

OR

State in brief the changes that take place in a fertilized
egg (zygote) till birth of the child in the human female
reproductive system. What happens to the egg when it is
not fertilized ?
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25. MEF TUUN G YRS & WEdd & fou g fug ufafed

Eal
= SR | FEH SFAM 39 Ul K YA T wWed gl
Fofa &1 § FINT ST 3799 999 8 cm U W W fog &7 Ui

T f5afaa () st faforsr s 7 |
Srera

Mg o R 8 ? 3Hk o THR HiA-si § & 2 fed e
TE F (1) GO I, (ii) TR ke, T (iii) S 1 HY G
T WY FNC | TH Ao Ae 3R U US, Uh-gW 9
OemT W@ § | 5@ 5l Mg o9 & A 3 & I
mﬁT@ﬁ%‘ O 9¢ W HHEch Il Saren o dleu gfdfeE g

= | O F WRY g FA @ ? S Al St & S
AR HES #H M Seo@ FHT | 5

I 112

Q"!

List the five sign conventions for reflection of light by
spherical mirrors. Apply these conventions in the
determination of nature and focal length of a mirror which
forms a five times magnified virtual image of an object
placed 8 ¢cm in front of the mirror.

OR

What is a spherical lens ? What are its two types ?
Explain in brief the terms (i) principal axis, (ii) optical
centre and (iii) aperture of a spherical lens. A burning
candle and a screen are placed 40 cm apart. When a
spherical lens is placed exactly in the middle of the two, a
sharp image of the flame is obtained on the screen. What
is the focal length of the lens ? Also state the nature and
size of the image formed.
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26. Us fammdl woAtss (Q
Fad G W
HIA TG W
HIA B R

g9 a9 99 H

(A)
(B)
(®)
(D)

Ra LRI |
SECTION B

W e

difes) o7l &I Y UgA Gehdl 7 ?

How can a student identify ethanoic (acetic) acid ?

By
(A)
(B)
©)
(D)

only smelling it

only tasting it

only touching it

smelling and tasting it

27. fodl ®F ¥ IR WA P, Q, R 991 S H AT ST SHHSE
CuSOy4, ZnS0y, FeSO, T Aly(SO4)5 faeaa faar | 399 s
Y% ¥ AR H TH D H P A G oA I g
qYETq 39 fohe TEAel H dld W TEd W 9 g8 feei & 2

(A)
(B)
(C)
(D)

31(B)
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QH
R H
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A student took four test tubes P, Q, R and S containing freshly
prepared CuSOy4, ZnSO4, FeSO4 and Alg(SOy4)3 respectively.
He placed a small iron nail in each. He found some deposit on
the nail in the test-tube,

)P
(B)

28. 9X BHEl P, Q, Rd S 7 UHifes o7 & TUiEmi &l 31eed fohan
3R 39 Jgup H gRoft § Aie T | Fa sifee, feges deor
e g | 1

g SRR RCKENIED]

P x x v x

Q x v x V

R x v v X

S v; x V x
A) P
B) Q
(C) R
(D) S
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Four students P, Q, R and S studied the properties of
acetic acid and noted their observations in the following

table. Find who was correct.

S _ Odour Miscibility with water
Like Onion| Like Vinegar | Miscible |Partially Miscible
P X 5 . 3
Q. X 7 5 P
R X 7 J :
S v v Y, - g
(A) P
B) Q
(C) R
(D) S

29.%@@%%%%@%%%?@%@@@%%

A) He frewg & @ A @
el fefeng & el o ar @
() o forewd & 7 39 e @
(D) o feeag &1 47 37 31 2

(B)

In litmus test, a student would observe that acetic acid

turns

(A) Dblue litmus red

(B)

(C) blue litmus colourless

(D)

- 31(B)

red litmus blue

red litmus colourless

14




30. THifcs 3 § Hifsaw gEsiH @EiHe fiam W HE 19
fadl @ | a8 19 93 & gl F o fgs 99 & &no

S § 2 . 1
(A) FHfegay THiee

(B) Hfcqaq FHEe

(C) Hewmd TREFEE

On adding sodium hydrogen carbonate to acetic acid, a gas
is evolved which turns lime water milky due to the
formation of

(A) Calcium acetate
(B) Calcium carbonaﬁe
(C) Calcium bicarbonate

(D) Calcium hydroxide

31. fhdl B &I fGU ¢ @ o9 & ®hd g Fd FH & A
frelt gy fomer 1 WHGd &A1 € | TEH IR S FH F
fae, foa & 9 § g4 & fau fr=fafea § 9 om0 39 fFgar

qeE < ? | 1
(A) T g F fEga & e

(B) WIE T F

(C) FE TEY Hdl oo

D)

(=%
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To find the focal length of a convex lens, a student has to
focus a distant object. For best results, out of the following,
which one would you suggest to him to select as an object
for this purpose ?

(A) Grills of the nearest window
(B) A distant tree |
(C) A distant tall building

(D) The sun

32. fodl g foma &1 wfafos W e fQU @ eade qdur @
g g fEiRa & & fau fo@ & &9 § 391 =1t

(A)  well-9fd S g fasrell w1 @e

(B) I3 TOA J&
(C) yarTEen & fags @ fae

(D) ©S & T A fhAR T W@ el A

For determining the focal length of a concave mirror by
obtaining the image of a distant object, one should use as
the object

(A) a well-illuminated distant electric pole
(B) a distant tree
(C) window grill in the laboratory

(D) a lighted candle kept at the distant edge of the table

-31(B) | : 16
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33. H B U< W IFAqA U K Ferddl ¥ R g o @
o yfafom W war @ | vfafa= & e (W) i % fae
39 T H WM =Y i

(A) dgreT @1 for i 3R
(B) gl W T FH 3N
(C) 9E ¥ s R R fafd W

(D) e & H AR gar faw # R, W@ fam @ fufd w
fft e 2

A student obtains a blurred image of a distant object on a
screen by using a concave mirror. In order to obtain a
sharp image he will have to shift the mirror

(A) slightly towards the object
(B) slightly towards the screen
(C) to a position very far away from the screen

(D) slightly either towards or away from the screen
depending upon the position of the object

34. FT % AFAHR W F FH oA arell FhRT fHOT & 99
FEa &3 o 3= uRumm & faw 199 Hivl H °F g
Sl i

(A) 12° 3R 25° & &9
(B) 30° 3K 55° & &9
(C) 60° 3R 80° & &H

(D) 65° 3R 85° & o9

31(B) 17 P .0.



For tracing the path of a ray of light through a
rectangular glass slab, the angles of incidence for better
result should be between

(A) 12° and 25°
(B) 30° and 55°
(C) 60° and 80°
(D) 65° and 85°

35. O fafis 3qaq Sl & U Hid & IAHR id 9 8ol
TS ATt YR foReor 1 ug fafid s & qvEr fed 8F A
S IAT HIVT % AT LT Le H AT IR IF A9 U

FUR 9Roft § Al

%. 9. Zi Zr ZLe
g 30° 20° 31°
II 45° 28° 44°
I1I B . 34° 59°
(A) Fad I3 II
(B) hadt II 3R III
(C) Had I3 III

(D) it & I, 11 3T 0T

31(B) 18



After tracing the path of rays of light through a glass slab
for three different angles of incidence, a student measured
the corresponding values of Zr and Ze and recorded them
in the table given below :

;[ S.No. Z1i e ZF Ze

| I 30° 20° 31°
I TS 28° 44°
III 60° 340 59°

The correct observations are
(A) I and II only

(B) 1II and III only

(C) 1 and III only

(D) All the three I, II and III

N

36. 7l B 7 *3 TH WES <@ fTH U0 FH W UHHIIh

S # G s w7 | aE wise fed F#iTdl @ 1
(A) HpeA .

(B) fg@wes

(C) wg@Ue

(D) f@Eved g sg@ved aHi

A student observed the slide of a wunicellular organism
having elongated nucleus. This slide represents

(A) budding
(B) binary fission
(C) multiple fission

(D) binary and multiple fission both

31(B) 19 P.T.0



37. fFEht B @ A< H ggod & T g3 WIES H UG FH &
fore T gerentt & 9umEifed & 2 | 39 fefafad =l @
e HAT BN ST 3fad ®9 § Ad for T §

I. STEHM a9 U0 # 39 YR GUEING e foe gemeel
Y qgie Y9 999 R | _

II. WS & 69 (B) W 1@ |

1. 3=9 vtk W THEAINST ek Rk HST |
IV. = ofts &1 3T ¥k Hiead Hifeg |
ST WO @ 3fEd wA

(A) L II IV, III

(B) IL, 1, 1III, IV

(C) I, I, 1V III

(D) I, IV, I; 111

A student has to adjust a compound microscope to observe
a prepared slide of budding in yeast. He must follow the
following steps which are not in proper sequence :

L. Adjust the diaphragm and the mirror so that sufficient
light enters the microscope.

II. Place the slide on the stage.
ITI. Adjust to high power and focus.

IV. Focus using low power.
The correct sequence of the above steps is

(A) L II, IV, III
(B) 1L I, 1, 1V
<y Akl AV T
(D) II, IV, I, III

31(B) ' 20



38. 3N I I B S99 o fafys =IO &I Sl FH JG0T HA
% ¥Rl IR SE I I0, I 991 IV 9 3794 3807 e U Er

[ 7@ a9 W FH A KIS KA fg@ved W
g 8 Tl |

II. I i § SfeEe oo & @1 ar |

IIL.  37feT § S % &R0T 9%all & §@al a9 5 off |

IV. 3Mien § <ffq s & Hafd hsehl § fawifod & @1 a1 |
W@W%@ﬁﬂﬁ@ﬁ% 1
(A) ISR II

(B) II 3R III

(C) I3 IV

(D) IV 3R I

After observing the slides showing different stages of -
reproduction in amoeba and yeast, four students, I, II, III
and IV, reported their observations as given below :

5 Single cells of amoeba and yeast were showing binary
fission and budding respectively.

II. Cytokinesis was seen in the yeast cell.
III. Chain of buds were seen due to reproduction in amoeba.

IV. Elongated nucleus was dividing to form two daughter
nuclei in amoeba.
The correct observations are that of students

(A) TIandII
(B) II and III
(C) III and IV
(D) IVand I

31(B) 21 _ PAT£0,



39.

40.

¥ B fHd TH o @ e W N wHaT & W fHE
FIREH F qeF 99 H fa9eH a1 <oidl 2 | I8 WiEE FA
ﬁﬂ@ﬁﬁa%ﬁﬁ%?

(A)

(B)?ﬂ@ﬁ%ﬁw

(C) omHer ¥ fg@ueq

(D) I ¥ fg@uea

A student observes a prepared slide which shows a cell
dividing in the centre. This slide could be representing

(A) budding in amoeba

(B) budding in yeast

(C) binary fission in amoeba

(D) binary fission in yeast

frerfell 0 sEwnfod o i wfaydar fAuifd &@ &1 w3
Fd g, fordl BF 3 T8 JeT07 foRan o oM 2 W a9 ST A
i & gy fRufhst & souE 3g 9% T @ | Afg o
forurfisti & oif<m somm 15g on, o fEufaen g srawnfya
ST &I gfaqerddr 8

(A) 20%

(B) 25%

(C) 30%

(D) 40%

While performing an experiment to determine the
percentage of water absorbed by raisins, a student observes
that the mass of raisins has increased by 3 g after keeping
them dipped in water for nearly 2 hours. If the final mass
of the soaked raisins was 15 g, the percentage of water

. absorbed by the raisins is

(A) 20%
(B) 25%
(C) 30%
(D) 40%

31(B) 22



T fEerHen @ Sifow dd R W @ fevifhen ¥ i S|
mw%ﬁqaﬂqfﬂrﬁﬁ:ﬁmﬁ7
t‘%aﬂﬁaﬁpﬁ%ﬂiﬁm

(B) el fhwifael & g9 H W@

(C) frex o ¥ 9R ¥ Ui

(D) o fReiHell W T A Gl

In the experiment for determining the percentage of water
absorbed by raisins, which of the following methods would
you prefer for removing the extra water from the soaked
raisins before final weighing ?

(A) Wiping gently using dry cotton wool
(B) Keeping wet raisins in the sun
(C) Wiping gently using filter paper

(D) Blowing hot air over the soaked raisins



